PROFESSIONAL EXAMINATION BOARD
Middle School Teacher Eligibility Test -

! Professional
Bb@mminqtion 2018
board 09th Mar 2019 02:30PM

Topic:- Child Development & Pedagogy (CDP)

1) Which theory laid the foundations for behaviorism? / & fAgHTd A sgagRag # i
@?

1. Functionalism / TehdTG (FarelAToros)

2. Gestalt / AECToT

3. Connectionism / TATSTTAIG (FATFCITdTH)

4. Structuralism / EXITATG

Correct Answer :-

« Connectionism / HASTAATG (FaATFITd=H)

2) yygotsky's work serves as foundation for researchers in / ?ﬂ?{lﬂ?ﬂﬁ Ca)

Gae| A mymare & fore g &1 w8 BT 21

1. cognitive development / T3TeATcHS faahrd

2. pedagogical skills / eI Fierer
3. emotional intelligence / ATdoATcHh ﬂ?{jﬁ'
4. reflective practices /ﬁi?ltmﬂﬁ 3 W

Correct Answer :-

. cognitive development / HaATeIlcH® Tdhr

3) Which of the following is the most appropriate approach for conceptual learning?/

frrfaf@a & ¥ dofe sftew & v e sagea eRewior 7= 2
1. Deep learning approach / 1[G 3fERTH m
2. Surface learning approach / Y 3{fENTH m



3. Strategic learning approach/ W 3{f€|1'|'£[ %’@?ﬁm
4. Memory based learning approach/ F:Iﬁf Wiﬂf\’_\'f G{TQTIT[ E@aﬁm

Correct Answer :-

« Deep learning approach / ITg 3T %@Tﬁm

4) On what is based the need for teaching philosophy of education? / fram &
frator gefereme T Y @ IFAT fRE W IR §?

1. All pupils are not alike / T3 ST Tah A AT BT}

2. Different systems of education found in different countries / 3TeTdT-3TcldT QAT H 3o9T-
79T frgTor yonforar & S #

3. Different philosophies expressed different points of view on every aspect of education /

faffieer eeTerEat & R8T & §¥ Uge] W 3TeTeT-37cHT EiSeehlvT eherc
fru

4, Different ways of teaching-learning / frerur-31T89TH & [(ffAT Tl

Correct Answer :-

« Different philosophies expressed different points of view on every aspect of education /

faffieer eeTerEaT & fRA6T & §Y Tge] W 3TeTIT-37cHT EISeehlvT eherc
fu|

5) OCD does not affect which of the following cognitive constructions?/
3 Arafaf@a FaeeAs FaAT & & R e ad star 2
1. Believes about inflated responsibility/ 3TfaRerd 3aieI¥ca & gfad fagara
2. Underestimation of personal ability/ SaTFdeTd &T&T I Fae 3Thall

3. Intolerance of uncertainty / 3TfAT¥addr &r W%SUFIT

4. Control of thoughts/ faaRT W fag=or

Correct Answer :-

« Control of thoughts/ faaRT WX fag=or

6) Emotional development is part of . | HaTcAS [Qpr T F1ReEargl
1. Motor development / fohaTcHe (HIC) faemra



2. Cognitive development / T3ATelTcHeh TAehTH
3. Psychosocial development / HATATHI oo [ahr
4. Sensory development / FadT (H&d) faera

Correct Answer :-

« Psychosocial development / HIIATHTToTeh [AehTH

7) A child has been bullied in the bus every day on the way to school. Now, when he hears
the sound of any bus approaching, he begins to panic. What principle of learning explains
this behaviour? / U& §Td &I Fhel ST 3"3' & U dor fFar srar @1 319, o9 oft ag
ﬁm“twﬂ:trmanﬁa?rmm%?ﬁa?mﬁmih A F1 FlT @

Rgeid §9 saagR &1 ArEdr FaT §?

1. Reinforcement / gﬂé?—l?{

2. Punishment / &3

3. Stimulus generalisation / 3GGIdeh HTHTIIHIOT
4, Stimulus discrimination / 32'@% [CEMEZI

Correct Answer :-

« Stimulus generalisation / 3G&I9eh HTHTATHIU]

8) A child is motivated to jump from the first floor window to the ground because it gives
her a thrill. What motivation theory best describes this kind of motivation? / Ts s<dl
ggel Al AT @z @ sl W Fea F AT W gar 2, FifF 37 38 Jorw &
g1 5 yHR & WRom QU $8§ YFR AT 0T HT G ST qoi FId 872

1. Arousal theory / HlegIdel fAeHTd (3RT3Tel LINY)
2. Incentive theory / ic@TgsT g

3. Drive theory / SIsd ﬁ?{ﬂ'l?r

4. Instinct theory / E[%I’ fagura

Correct Answer :-

« Arousal theory / lggIdel AT (3RT3Tel LINY)

9) Which of the following sentence is TRUE in the context of guidance and counselling in
school?/ fawaAfaf@a & @ Fla @1 gy, Tha # AFENT IR WHAY & Fe & WA
e?



1. Talking about my problems, in counselling or otherwise, isn’t going to help. / BI3HTIIT AT
e H AN GHREGBN & dR H 91 F § 1 SIS Acq A8 AT & &

2. Counselling takes only one sitting to be effective. / RIAVSTAT JHTAT glat & o Fhaol 1
& Sow (Hifder) war g

3. Helps in working through personal problems that may affect academics or relationships. /

STFAIT AT o ATEIH T FIH A H HGG Idl ¢ o [Aeffder ar Redr &r
genfad X TehdT B

4. Students get counselling only because there is a counselor in school. / BTAT &I hadl SHAT
WAL Herdar § Fifer Regrea # wAerar g

Correct Answer :-

« Helps in working through personal problems that may affect academics or relationships. /

ITFAITT TAEATIT & ATETH T FHIH A H A Hidl ¢ o fRenfaer ar Reat =r
JHTTAT L Tohell o

10) Which of the following provides excellent resources to explore? / fAFfaf@a & &
FIT AT gaT 9T (TFACAR H%1) F AT 3cFse WA WelT T 82

1. LCD projector / TS Hioierex

2. Internet / E'EQ?IE
3. Interactive smart board / s’aii#aa TATC a2

4, Language Lab / ofadel o

Correct Answer :-

. Internet / 3c{aic

11) Which memory is connected with episodes and events? / 959 AR geaT3it F Ty

Fier d Ffar P et @2

1. Long-term / &raTafer

2. Episodic / WA aTeh T (TOG1{Seh)
3. Semantic / 3 T (HIHATEH)

4. Short-term / 3TeUTA T

Correct Answer :-

. Episodic / 9T Fﬂﬁ (m)



12) The type of personality called ‘Asthenic’ was introduced by / '¥3fa&" A& gfddca
s garr g da R

1. Freud / B1IS

2. Sheldon / Qe

3. Kretschmer / SheFR
4, Jung / '{IID?T

Correct Answer :-

« Kretschmer / sh2THAT

13) The 3 primary laws of Thorndike’s theory are: / UTSISH & ﬁi\"f-'lﬁ & 3 yriafas
e &

1. law of readiness, law of exercise, law of effect / dcaxdl T AT, 33T T I, 93719
CORE D

2. law of intensity, law of analogy, law of assimilation / drgar &1 F9s, @ &1 @9,
TCHATTROT T TH

3. law of action, law of experience, law of result / FF F1 FIH, 3-1?:;34? Fr Fge, aRoms
CORT D

4, law of use, law of practice, law of disuse / U7 T fId, 31909 &1 I, H@WT T
e

Correct Answer :-

« law of readiness, law of exercise, law of effect / TCIRAT T AIH, 37T FT [FIH, g1

14) Minnesota Multiphasic Personality Inventory (MMPI-2) has / fRat@er aedibioie
qHTIE Saed) (THTATIENE-2) # e &

1. Above 400 items / 400 3T8cH & &
2. Above 500 items / 500 3-1132?@3—1%
3. Below 500 items / 500 m@rm
4. Below 300 items / 300 3TS¢H &

Correct Answer :-

« Above 500 items / 500 3TScH & 37TH



15) In which of Piaget’s substages of sensorimotor stage to children repeat pleasurable

actions that first occurred by chance? / TOITS &Y HAGIH® IMHAS HTEAT ('\qﬁa
Jefir 3raTyT) 1 P 3IYNETYT H I HdcedFH FIAT F qEId & AT
Tgell IR FAT F §C A?

1. Primary circular reactions / SIBIECY Elc?ﬂ'\’l 3-]?:19@')711?
2. Secondary circular reactions / ot a(:t_'h'q- WTU
3. Use of reflexes / Hg ol fSRaT3TT T 9ATeT
4. Mental combinations / HTeT8eh HIFeT0T

Correct Answer :-

 Primary circular reactions / IEIPEED Elc?‘ﬁ?:f 3-]?19'@7&1"3’

16) What have the children developed when they are aware of their own mental processes? /

T 39 A FIT AFRT Fa § 99 98 396 AERE ufhanEit @
3gard B &7

1. Metalinguistic abilities / 31TEIHTNS &HATT (Helfeldditesh TdIfolcl)
2. Metacognition / g (ﬁaﬁ??-ﬂf%\h—rr)

3. Meta-awareness / 3T TSISITITwehdl (JEI'ET-Ha'ZIW)

4. Metamorphosis / hITe-c{0T (zﬁaﬁdﬁm)

Correct Answer :-

« Metacognition / 3T AT (mﬁ?ﬂ'ﬁlﬁ)

17) What is the smallest unit in the writing system?/ d@e YUTTell H TIH DI SHIS FAT
g2

1. Nouns / &3T

2. Verbs / TopaT

3. Phonemes / ¥afAH (TleAH)
4. Graphemes / afo1a (ITHeH)

Correct Answer :-

« Graphemes / afote (ITHH)



18) What cognitive principle does a child possess when she understands that the amount of

clay in a 2cm ball remains the same whether the ball is flattened or made into a stick? / Ueh

godT i AT FACHS fAgHTd Icd FX AT §, 9 98 38 WA A
TaTH gt § % 2 QY a1 v g H A (Fd) A AW FAS T @
T8 3 H T9eT FRAT ST AT 3T S F T F T A0

1. Conservation / TI&TOT

2. Volume / 3T dod

3. Hypothesis / IR&eder

4. Trreversibility / HﬂWﬂ’qﬂT

Correct Answer :-

« Conservation / TI&TOT

19) What are the characteristics of scientific inquiry?/ 37fa® Jra $1 f{AAva? =1 gt

¥4
1. All of the above/ 3URIeFd T

2. Learner engages in scientifically oriented questions only./ fr&mreft aafeier ¥ & hael
30T YAl # Forde gid g
3. Learner gives priority to evidence only. / freTreft shaer @reT & gTAfASar <o %I

4. Learner formulates explanation from evidence only./ fQT&‘” ff Haa H1&d q W@W\’-UT IR
GG

Correct Answer :-

« All of the above/ 3UUed THT

20) Children who come from homes with good parent- child relationships tend to be
/Foe R # Arar-Rar 3k s=at &1 g9 oo gar § a a9
g Bl

1. Intolerant of others / ngzl & gfa 3-]?'%50;[

2. Impulsive / TN (SFufedq)

3. Posses weak intellectual control / HHASAR W IGRENRCILT

4. Successful in social participation / ATl HARNERT & %ol



Correct Answer :-

« Successful in social participation/ﬂ'mm TN H Ihel

21) Kohler’s insightful learning proved that learning is ./ P & Aqaefee

A S gy frar & siftes el

1. an autonomous random activity / Ueh EITIA IJrefeas farare

2. an event of trial an error / Y cel AR aﬁf &I Tk geaAr

3. a new perception of the total situation / Fccl'\uﬁ' Fufa & e o_'lg 3']?; 3{%

4, a connection between stimulus and response / 3STelT 3‘ﬁT m & aF Th W

Correct Answer :-

« anew perception of the total situation / ch'\uﬁ' Fufa $r e o_'lé' 3] 3{\%

22) Vygotsky places considerably more emphasison _ factors contributing to
cognitive development./ ATSMcaHT o H'TRH?T W agd s SR I & &
HAETCHS AP & IRE Fa &1

1. Personal / SATFIIT

2. Social / TTHATSIR

3. Emotional/ HTdedTcHS
4. Cognitive/ HIATATCHE

Correct Answer :-

« Social / grATSH

23) According to Piaget, what method of processing information helps in the creation of

schemas? / 0TS & HJHR, HdeIT gfsharetor Y Fla-dr [ f=afa
QAT (THAT) & AT F Age FEdr 82

1. Questioning / T&TS (FALATIT

2. Motivation / 3TTHUROT (HIfeaus)

3. Deliberation / fTaaR ol (3forfavere)
4. Accommodation / THSTeT (THIATSLUA)



Correct Answer :-
« Accommodation / HHSI (TRIAISLA)

24) Maslow’s five-stage model is in the shape of a / AT & YTT-37qTYT AlST TH
* WHR H g

1. Pyramid / @xifas
2. Square / @I

3. Rectangle / 31ad

4. Circle / qd

Correct Answer :-

« Pyramid / @Tifas

25) Ankit cheats on his exams and ends up failing in his final assessment. This can be

attributedtohis:/\’ri'ﬁ"_\'l' qﬁ&"ﬁﬁmﬁaﬁ?mmWﬁ
3P gl STl g1 39 U IHS 59 PRI B foTAER 3831 & IHdT 8:

1. Lack of parental involvement / W—ﬁﬂ*ﬂgﬂmaﬂﬁm
2. Poor reading comprehension /Ii_q" U&eT T YR

3. Lack of self-esteem / TcH-HFHTA Fr AT

4. Dependence on others / gﬂﬂ L’ py ﬁ“—h_tﬂ'
Correct Answer :-

« Dependence on others / gﬂil' R Ay

26) According to the theory, men and women are different and unchangeable due to

their intrinsic differences between the sexes. / m*w, gm’raﬂwﬁmaﬁ#
o9t & i 3Ta R 3aX F FROT 3191 3 3rIREdNT &

1. Social constructionism / AT HATUTATG (TS hEcHATdoa)
2. Intersectionality / mgramﬁzr (exaFUIferey)
3. Gender Essentialism / foieT 31faariar

4. Gender performativity / foiaT gt

Correct Answer :-



« Gender Essentialism / foi9T 31faarIar

27) The learning style that is greatly associated with activity is: / IIfafafer & @ 9gd IO
draer #r o &

1. Visual / €T

2. Verbal / #Alf@%

3. Kinesthetic / EFI?HT?J'QT#T
4. Auditory / HdUT

Correct Answer :-

« Kinesthetic / d81EdeHh

28) Which of the following is not true about constructive teaching approaches? /ﬁﬁ}ﬂ%@ﬁ

HE PN AT R1ev7 TBHI0T & IR § I 781 82

1. It allows the teacher to focus on important and relevant information. / dg fereTen ol m’quﬁ' 3R
T TaTeh STTeTeh T IR €Tl ehigicl hiat el JeTAT Gl &

2. Students learn to value the opinions of each other. / BT Wq\ﬂi & HT FI Hgcd ol
@I |

3. It helps to customize the curriculum to each student. / dg ‘zl('ejlch ST &l HlodshH =)
R & ITHR Tl H Hee A6 |

4, Discussions on the thoughts and ideas of a student are used. / Uch &[3 é? H’Er 3‘ﬁT iaaN‘i qJ
T T 3TN FhAT SATAT B |

Correct Answer :-

« It helps to customize the curriculum to each student. / Tg Tk BTF ol qiodshH I
TR & IR FAT H Hee AT 6|

29) Erikson, a follower of Freud'’s synthesized both Freud’s and his own theories to
create_________ stages of human development, which span from birth to death. / TPTIS

¥ AT TREHT 3, WIS R IHF W4 F Rigial 3 wra R &
z SARIT3HT BT g9 & e dzafta fbar, st o= 9 g7 a& gt
|

1. Ethological/1'=¢»"?f|'<7‘|'\I:'I:§|'<'=h_01r



2. Epistemological / AATAHIHAIT
3. Psychosocial / FATHTATIoTh

4. Conventional/ GI{FIITITT

Correct Answer :-

« Psychosocial / HATETHATGIh

30) children should start developing cognitive abilities before they can experience / aiﬁ' a%
BT AJHT PR TP T Ugd, YIS &A1 B fIbRid H1 IR a

CEIEIHY

1. Fear / ST

2. Embarrassment / 31T
3. Anger / I[&HT
4. Disgust / gUT

Correct Answer :-

« Embarrassment / S15Te

Topic:- General Hindi (L1GH)

1) i, srfta, #1 Hax 32
MR i fave &t afe-it
Tt gl oI B,

fea gt HR AR Y
3uell | B Hedl wrdl 3|
¢ W TP AT Al
"3 W afg g faeman,
3 GASR & FUHI BT

# oft o1 3t it AT
- T8 QT e,
led Y& Wel de R gl
4, srfta, #19 gez 82
3T P I T A W
it @id W ST it



Ug par - did @

H1 96 3 7 Al

AT Y[P oTd fbvor aviedt
Joll 3T 9of & TSR
firg, It & Ha AR
TE STd ¥§ H FAHR |
IS 761 P PTRR T H,
AT W Y[B! BT IR gl
wfa, erfi, B R B2
3 O+t € Tel, U W
gl TR DT YT DI
W ¥ g5l Wi arar gl
T-aR @t i Ft
1T § U gt 2,
'gs 9 0 § %t fa &t
faeEr, of o § T B
98 TTaT, R fef A |
T 5T AT 3R &
wfia, erfid, B X 82
ITYe U= B Ugh? I YD WH 91 W= BT IR 9a15¢|
TY: ‘Sl eg BT T A 32
L g8 q HIg QT

2. M & 3Ter

3. 39S §5 AT

4. fFaRT &

Correct Answer :-

. foraRt &

2) i, arfta, 1 G 82
MR i fave ot afe-it
Tt TRl oI B,

A gam s A A



3ell § O Dol ol g
¢ IR Ueh J[eTd Hiwdl,
"ad R gfe g3 faurar,
3T YAZR & HUT BT

# oft w1 1 it AT
-1 98 a1 (e,
UTed g @Sl d¢ W
wfia, erfid, BH GR 82
3T P I T ST W
it @i TR B &t

Ug par - did |

@ 96 3 7 Tl
AT Y& o9 fopvor adt
Fdl 3T gof d SR
forg, It & Ma ISR
@ 9Td Eg | 91|
ST TG P BT TR T H,
Tl T Y[H! BT R B
fq, srflta, 19 gez 82
@ U ¢ TeT, T W
gl TR P! YT DI
W A ggT I arar 2|
T-T @St Hw
BT § s gadt g,
'gs 9 I & Bl i ot
faear, o w9 § 7 21
98 aT, R fft dn &
T T8 3P 3HeR B
14, arfia, P g3 22
ST UL B UgHR -1 U 9 91 U= $T Sk 9a13¢|
TY: "3 UAZR &b U &1 § S 1 Wa FAmar ¢t feast snwian g2
1. 5TET T



2. Ak Fr
S
3.3131Ta£r

4, Qﬁ@f

Correct Answer :-

3) 4, orfia, ® gax 82
MR i fave & afe-i
FTaedt ggdt A §,

fea goeT B AR Y
3uell | B Hedl oIl g
¢ W TP 19 Hi,
"gd W afe g far,
3Y Ya3R & JUI BT

# oft o1 3t it gATan”
- 98 T8 e,
led Y& WeT dc R gl
i, snfia, B v 32
3T Y& 3 U A W
St @id W ST it

U9 par - @id |

! 95 343 ? At

T P o9 fovor gt
el 3T uuf d SR
forg, o & Ma AR
TE 1d ¥8 H FA1 |
ST 78T P BT WR T H,
AT 7 YD BT W B
i, srfia, 19 Her 32
3 O+t € e, U W
gl TR P! YT DI
W ¥ g5l Wi arar gl



TN-aRY WSt A Ft

BT # f5us? et 3,

'gs 9 i § %t fa &

fayEr, @ 7 & R R

98 a1, R fef A |

Bl TQT TSI SR B

wfiq, erfid, B w82

ST U Bl UgHR A I 9 91 U= BT Sk Ia13¢)
WY: AT Y[ o fH0r gt Felt 81 ol F B-ae’ g1 vy fraw 32
1. 9Hd H & qU &

2. JHT-OfFeT dae &

3. YehH-hT & UH T F

4. frdly @ FIET

Correct Answer :-

o YH-YH H 97 qUT
4) ftq, 3rfid, H19 ger 82
MR i fave ot afeht
et FEdt S B,

A gam s A A

3ell § O Dol ol g
¢ W U J[ard Hiedl,
"3d W gfe g fauma,
3T YR & HYT BT

# oft s 1 it AT
-1 95 a1 (e,
UTed g @S d¢ W B
wfia, erfid, B YR B2
3T P I T ITA W

i @i TR BT &l

UE ot A @id |

@1 96 33 7 Tl

AT Y@ o9 fopvor adt



Fell 37 uvl | TR

firg, It & Ha IHSHR

IE 9Td Eg d 9|

I T6T P PI R T H,

BT 71 YBl BT WR B

wfiq, erfid, B YR 82

< it € 7gl, ue o

AT ¥R IS YT B

W A ggl dia arar 2|

T-aR @t a Ft

oTaT § U gt ,

'gs 9 7 & w) fq

AT, ot 791 ¥ et 1

9% aT, R fft dn &

T T8 3P ek B

14, arfia, P X &2

ITed U= B UG 1 YD WH 91 U= BT IR 9a15¢|
uy: “ia sfia’ &1 St TG 1 32

1. 3ugerd et

2. 38 Fad Jolell Yfd 7 BT 3% ded & TR # 7S §
3. 38H Shdel AT 3R oW HTaAI3i & Jefo &
4. el FAE H AT AT F AT J H TS §

Correct Answer :-

5) 1, arfta, S Gz 82
MR i fave &1 afe-i
Fract Tt T B,

fea goeT B AR Y
3uell | B Hedl ol g
¢ W TP 19 Hi,
"ad R afe gt e,



3T YR & HU BT
# oft o1 Bt it gATa”
- 98 QT e,
UTed 4o TST d¢ R 3
M4, 3rfla, $19 Y= 82
3T P I T A W
St @id IR BT gl

Tg Far - did d

@ 35 33 & AR

T P o fovor qet
ot 3T uvf & S|
forg, ot & Ha IHSHR
IE 9Td Eg d 91|
ST 78T P BT WR T H,
AT 7 YD BT WR B
1fia, erfta, #9 Jex 82
<t O € el, U o
gl TR D! YT DI
WX 9§ g5l Wig A1 |
TNY-aRY WSt A Ft
o # oy et &,
'gs 9 T & Bl i ot
T, @ 7= & R R
9% AT, R fft an &
Bl TQT TSI SR B
i, srfia, # g 82
ST TN H) UgHR A U 9 a1 U $T Sk 9a13¢|
uy: T¢I frad a1d Fvd gU I8 W 72
1. faerar &

2. 9[AS &

3. YRR A

4. fFaRT &



Correct Answer :-
. PRy &

it @i TR B &t

Ug par - did |

@1 96 3 7 Tt
AT Y& o9 fopvor adt
Fet 3T gof F SR
firg, It & Ma IHSHR
IE 9Td EE d 9|
ST TQT P BT TR T H,
AT T Y[B BT R B
4, srfta, #19 gez 82
@ U ¢ TeT, T W
gl TR P! YT DI
W A 98T I arar 2|
- @St Hw Ft
BT § s gadt g,
'gs 9 7 & B} g



faeEr, of 79 § R R

98 TTaT, R fedf an |

T T8 3P 3HeR B

Mq, 3rfla, $I9 <= 82

IuYed U= B UgHR I YD WM 91 W= BT IR 9a15¢|

TH: 919 GHARY HIGHT 5131 IR a9a ¥l § S16¥ 3Tl § df 36 1 $5d 32
1. e

2. 30

3. hgl=ar
4, AT

Correct Answer :-

7) q, 3rfia, $ e 82
MR i fave ot afe-it
Fat gl oI ©,

fea g HR AR Y
3uell | B Hedl ol g
¢ W TP A9 Al
"3 W afg g faeman,
3T UAZR & HYT BT

# oft w1 1 it AT
- T8 T8 e,
led Y& Wel de W gl
4, 3rfla, $19 Y= 82
3T P I T A W
it @id W ST &t

Tg par - dia d

@ 35 3 & AR

T P o fovor qet
Fdt 3T uvf & S|
forg, ot & Ma AR
IE 9Td Eg d 91|



ST TG P BT TR T H,

AT 7 YD BT WR B

4, srflta, 19 gez 82

@ U ¢ TeT, T W

gl TR P! YT DI

W ggT I arar 2|

TNY-aRY WSt A Ft

BT A f5ue gadt 2,

'gs A I & Bl i ot

fayar, @ 7 & T R

9% aT, R fft dn &

T T8 3P 3AeR 3

i, srfia, # g 32

ST UL B UgHR A IS 91 9T U= HT Sk 9a13¢|
TH: SIS BIS UTIAT X &1 Igalt § dl 3 T Fegd 82
1. Tl

2. gl d

3. geaTe

4, 3130

Correct Answer :-

8) ia, arfid, B Yoz &2
e Md fawe @1 afe-t
FTadt ggt A §,

fea g FR A B
SUdl § $O Hed! o gl
¢ W TP AT Al
"ad TR afe g faurar,
Y TAR & HUAT BT

# oft o1 3 wfta gATan”
-1 98 T8 13y,



led Y& Wel d¢ R gl
14, orfia, $19 Y 82
3T Y& 3 °HI A W
St @id W ST |

U9 par - @id |

@ ¥5 3 & AR

T P o9 fovor gt
el 3T uuf d SR
forg, Yot & Ma AR
TE 1d T8 H g1
IS 761 P PTRR T H,
AT 7 YD BT W B
1fia, erfta, ¥ Je= 82
3 O+t € Tel, v W
gl TR P! YT DI
W ¥ g5l Wi AT gl
TN-aRY WSt A Ft
o A fEusT el 8,
'gs 9 T & wgl g ot
faeET, @ 7= & R R
98 a1, R fef an |
Bl TQT TSI SR B
wfia, erfid, B w82
ST U DI UgHR A TS 9 91 U= $T Ik Ia13¢)
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o U, ATET
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o PR ST

Topic:- General English(L2GE)

1) Read the following passage and answer the question given below:

Today man has reached great heights. He has invented many things previously unknown to him.
Moreover, he has created great progress in fields such as medicine and science, which have
helped him to lead a comfortable life. But man has also created poisons, bombs, guns and lethal
weapons too. Also, there are some things which give him great pleasure but later on prove fatal
to mankind.

Taking drugs and smoking are two of the deadly habits man has cultivated. Though drugs have
been controlled down to two percent, it is still on the prowl. But smoking is the worst poison in
a person'’s life. Though it gives him great pleasure in the initial stages, as time passes, it will
lead to several health hazards. The first symptoms of smoking are chest burning, asthma,
wheezing, cold etc. which cause difficulties in regular breathing. In the end, the person dies of
breathlessness. Smoking has to be banned in all places. But many people are careless and shut
both their ears to what the world has to say. All of us are familiar with the saying. "Today’s
children are tomorrow’s citizens.” But if today’s children are smokers, then tomorrow there will
be only smoke in the mouth and fire in the stomach.

Which are the branches of study that have helped him to have a comfortable life?

1. Electronics
2. Medicine and science
3. Architecture

4. Biology



Correct Answer :-

e Medicine and science

2) Read the following passage and answer the question given below:

Today man has reached great heights. He has invented many things previously unknown to him.
Moreover, he has created great progress in fields such as medicine and science, which have
helped him to lead a comfortable life. But man has also created poisons, bombs, guns and lethal
weapons too. Also, there are some things which give him great pleasure but later on prove fatal
to mankind.

Taking drugs and smoking are two of the deadly habits man has cultivated. Though drugs have
been controlled down to two percent, it is still on the prowl. But smoking is the worst poison in
a person'’s life. Though it gives him great pleasure in the initial stages, as time passes, it will
lead to several health hazards. The first symptoms of smoking are chest burning, asthma,
wheezing, cold etc. which cause difficulties in regular breathing. In the end, the person dies of
breathlessness. Smoking has to be banned in all places. But many people are careless and shut
both their ears to what the world has to say. All of us are familiar with the saying. "Today’s
children are tomorrow’s citizens.” But if today’s children are smokers, then tomorrow there will
be only smoke in the mouth and fire in the stomach.

Which is the first symptom of the harm that smoking does?

1. Chest burning
2. Chest congestion
3. Breathlessness

4. Death

Correct Answer :-

¢ Chest burning

3) Read the following passage and answer the question given below:

Today man has reached great heights. He has invented many things previously unknown to him.
Moreover, he has created great progress in fields such as medicine and science, which have
helped him to lead a comfortable life. But man has also created poisons, bombs, guns and lethal
weapons too. Also, there are some things which give him great pleasure but later on prove fatal
to mankind.

Taking drugs and smoking are two of the deadly habits man has cultivated. Though drugs have
been controlled down to two percent, it is still on the prowl. But smoking is the worst poison in
a person'’s life. Though it gives him great pleasure in the initial stages, as time passes, it will
lead to several health hazards. The first symptoms of smoking are chest burning, asthma,
wheezing, cold etc. which cause difficulties in regular breathing. In the end, the person dies of
breathlessness. Smoking has to be banned in all places. But many people are careless and shut
both their ears to what the world has to say. All of us are familiar with the saying. “"Today’s



children are tomorrow’s citizens.” But if today’s children are smokers, then tomorrow there will
be only smoke in the mouth and fire in the stomach.

What deadly habits has man become a slave to?
1. Drugs and smoking

2. War mongering

3. Drugs only

4. Smoking only

Correct Answer :-

¢ Drugs and smoking

4) Read the following passage and answer the question given below:

Today man has reached great heights. He has invented many things previously unknown to him.
Moreover, he has created great progress in fields such as medicine and science, which have
helped him to lead a comfortable life. But man has also created poisons, bombs, guns and lethal
weapons too. Also, there are some things which give him great pleasure but later on prove fatal
to mankind.

Taking drugs and smoking are two of the deadly habits man has cultivated. Though drugs have
been controlled down to two percent, it is still on the prowl. But smoking is the worst poison in
a person'’s life. Though it gives him great pleasure in the initial stages, as time passes, it will
lead to several health hazards. The first symptoms of smoking are chest burning, asthma,
wheezing, cold etc. which cause difficulties in regular breathing. In the end, the person dies of
breathlessness. Smoking has to be banned in all places. But many people are careless and shut
both their ears to what the world has to say. All of us are familiar with the saying. "Today's
children are tomorrow’s citizens.” But if today’s children are smokers, then tomorrow there will
be only smoke in the mouth and fire in the stomach.

How can one say that man has reached great heights?

1. Because he can talk.
2. Because he has invented many things.
3. Because he has evolved fully.

4. Because he is the most intelligent of all animals.

Correct Answer :-

¢ Because he has invented many things.

5) Read the poem and answer the question given below:



A pigtail dangled down my back,

I was just sixteen years.

One day my mother came and flicked
a duster round my ears.

'Don't sit there writing poetry,

go dust your room instead!

With all this nonsense you won't earn
the butter on your bread!

She often scolded me, but I

stepped lightly as a bird

and went on dreaming through the day
as if I had not heard.

What could I say? My mother
would never understand.

So I wrote only secretly,

the duster in my hand.

When finally I learned to cook,

I often heard her tell,

'To keep your future husband sweet,
you'll have to feed him well!'

'And how do men keep women sweet?’
She gave me no reply

but went on cooking, and I saw

her shake her head and sigh.

How old was the poet when she wore pigtails?
1. 15 years
2. 16 years
3. 13 years

4. 12 years

Correct Answer :-

® 16 years

6) Read the poem and answer the question given below:

A pigtail dangled down my back,

I was just sixteen years.

One day my mother came and flicked
a duster round my ears.

'Don't sit there writing poetry,
go dust your room instead!
With all this nonsense you won't earn



the butter on your bread!'

She often scolded me, but 1

stepped lightly as a bird

and went on dreaming through the day
as if I had not heard.

What could I say? My mother
would never understand.

So I wrote only secretly,

the duster in my hand.

When finally I learned to cook,

I often heard her tell,

'To keep your future husband sweet,
you'll have to feed him well!

'And how do men keep women sweet?’
She gave me no reply

but went on cooking, and I saw

her shake her head and sigh.

Why did the poet need to learn cooking, according to her mother?
1. To set up a class for cookery.

2. To be able to cook when she stayed herself.

3. To satisfy her future husband.

4. To satisfy her parents.

Correct Answer :-

» To satisfy her future husband.

7) Read the poem and answer the question given below:

A pigtail dangled down my back,

I was just sixteen years.

One day my mother came and flicked
a duster round my ears.

'Don't sit there writing poetry,

go dust your room instead!

With all this nonsense you won't earn
the butter on your bread!

She often scolded me, but I

stepped lightly as a bird

and went on dreaming through the day
as if I had not heard.

What could I say? My mother



would never understand.
So I wrote only secretly,
the duster in my hand.

When finally I learned to cook,

I often heard her tell,

'To keep your future husband sweet,
you'll have to feed him well!

'And how do men keep women sweet?’
She gave me no reply

but went on cooking, and I saw

her shake her head and sigh.

Why did the poet's mother flick the duster?

1. To teach her how to dust.
2. To urge her to dust her room.
3. To urge her to dust the house.

4. To wake her up.

Correct Answer :-

e To urge her to dust her room.

8) Read the poem and answer the question given below:

A pigtail dangled down my back,

I was just sixteen years.

One day my mother came and flicked
a duster round my ears.

'Don't sit there writing poetry,

go dust your room instead!

With all this nonsense you won't earn
the butter on your bread!'

She often scolded me, but 1

stepped lightly as a bird

and went on dreaming through the day
as if I had not heard.

What could I say? My mother
would never understand.

So I wrote only secretly,

the duster in my hand.

When finally I learned to cook,

I often heard her tell,

'To keep your future husband sweet,
you'll have to feed him well!'



'And how do men keep women sweet?’
She gave me no reply

but went on cooking, and I saw

her shake her head and sigh.

What reason did the mother have, for asking her daughter not to write poetry?

1. It would make her sleepy.
2. It would make her lazy.
3. It would not let her buy butter.

4. It would not give her a livelihood.

Correct Answer :-

[t would not give her a livelihood.

9) Which of the following options best combines the following sentences?
I will win the scholarship. That is certain.

1. I should win the scholarship that is certain.

2. It is certain that | will win the scholarship.

3. I will win the scholarship; so certain | am.

4. | will win the scholarship so | am certain.

Correct Answer :-
o [t is certain that | will win the scholarship.

10) Read the sentence carefully and choose the option that has an error in it:

He drank once again as he was feeling very thirsty.
1. very thirsty.

2. No error

3. He drank once again

4. as he was feeling

Correct Answer :-

e No error



11) Read the sentence carefully and choose the option that has an error in it:

When the topic of absenteeism was rised, she had a scornful look on her face.
1. When the topic of absenteeism

2. on her face.

3. she had a scornful look

4, was rised,

Correct Answer :-

e was rised,

12) Fill in the blank with the correct option in the given sentence:
Some of the parents talk in parent-teacher meetings.

1. sensible

2. sensibly

3. sensation

4, sensitive

Correct Answer :-
» sensibly

13) Choose the right tag:

We are dining out today, ?
1. are we

2. aren't we

3. can we

4, don't we

Correct Answer :-

e aren't we

14) Fill in the blank with the most appropriate preposition in the given sentence.
The store employees do a lot of work most of the customers.

1. to



2. from
3. of

4, for

Correct Answer :-

o for

15) Fill in the blank with the correct option in the given sentence:

That which cools is referred to as a cool--.
1. --er

2. —-ent

3. --ant

4. --ing

Correct Answer :-

16) Fill in the blank with the correct option in the given sentence:

A --vention is the coming together of a large number of people.
1. pre--

2. inter--

3.in--

4. con--

Correct Answer :-

17) Choose the most appropriate determiner in the given sentence.

I think express train is running late. It was to arrive at 9’0 clock.
l.a

2. the



3. no determiner

4, an

Correct Answer :-
o the

18) Choose the appropriate antonym for the highlighted word in the given sentence.

Her pain was aggravated by his words of consolation.
1. erased

2. alleviated

3. escalated

4, compounded

Correct Answer :-
e alleviated

19) Choose the appropriate prepositions for the given sentence:

The files are the alphabetical order, so don't meddle them.
1. in, with

2. from, in

3. by, through

4, into, around

Correct Answer :-
e in, with

20) Choose the appropriate synonym for the highlighted word in the given sentence.

The company'’s decision to close down its branch office is an irrevocable step.
1. changeable
2. temporary
3. unalterable

4. irreplaceable



Correct Answer :-
e unalterable

21) Choose the appropriate pronouns for the given sentence.

The family are to be blamed for misfortunes.
1. their, themselves

2. themselves, their

3. himself, his

4. ourselves, our

Correct Answer :-

¢ themselves, their

22) Choose the appropriate option that rewrites the given sentence in its active voice.

Only one day was taken by him to pick up skills in skiing.
1. He took only one day to pick up skills in skiing.

2. He was taking one day to pick up skills in skiing.

3. He was taken one day to pick up skills in skiing.

4. He has taken only one day to pick up skills in skiing.

Correct Answer :-
+ He took only one day to pick up skills in skiing.

23) Choose the appropriate option that fills in the given sentence correctly:

He will not be taken back he apologizes to the other players.
1. in order that

2. unless

3. although

4. because

Correct Answer :-

e unless



24) Choose the appropriate tense to fill in the blank in the given sentence
Most children by the age of three.

1. learns speaking

2. are learning to speaking

3. learn to speak

4, learned to have spoken

Correct Answer :-

¢ learn to speak

25) Choose appropriate articles for the given sentence:

Applicants should prepare for role-playing, which is __ essential part of __ interview
process.

1. a, no article required
2. an, no article required
3.an, an

4. no article required, the

Correct Answer :-

26) Choose an appropriate modal for the given sentence:

In order to gain respect, we be respectful to others.
1. must

2. might

3. could

4, can

Correct Answer :-

e could

27) Choose the option that substitutes the given phrase appropriately.



A mixture of metals
1. Fusion

2. Admixture

3. Amalgamation

4. Alloy

Correct Answer :-
o Alloy

28) Choose the option that best transforms the sentence into its Indirect form:

My uncle said, ‘We have moved into our new flat. We don't like it nearly as much as our last
one.’

1. My uncle had said that they were moving into their new flat but that they don’t like it nearly as much
as our last one.

2. My uncle said if they have moved into their new flat and that they didn’t like it nearly as much as their
last one.

3. My uncle said that we had moved into our new flat but that they didn’t like it nearly as much as their
last one.

4. My uncle said that they had moved into their new flat but they didn’t like it nearly as much as their last
one.

Correct Answer :-

* My uncle said that they had moved into their new flat but they didn’t like it nearly as much as their last
one.

29) Choose the option that best explains the highlighted expression:

'Why've you got such a long face?'
'My boyfriend doesn't want to see me anymore.’

1. look bored
2. look sad
3. look anxious

4. look excited

Correct Answer :-

e look sad



30) Change the given statement to indirect speech.
The teacher said, “"The planets revolve around the sun.”
1. The teacher said that the planets revolved around the sun.
2. The teacher said that the planets revolves around the sun.
3. The teacher said that the planets revolve around the sun.

4. The teacher said that the planet is revolving around the sun.

Correct Answer :-
o The teacher said that the planets revolve around the sun.
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